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2 54??4 - ?D<6545=> ?>?=>5 ?D46<?L=>5 D5L5=<5, 6>?NG4NM55 E?54GNM<5 M?5<5=FO: 

- �4?<E4=O D<7<G5E><5 74>>=><5D=>EF<, ?D<<5=5=<5 >>F>DOE =5>5E>4<<> < 4>EF4F>G=> 4?O 

D5L5=<O 44==>= 7444G<; 

- �O?>?=5=O =5>5E>4<<O5 <4F5<4F<G5E><5 ?D5>5D47>64=<O < D4EGUFO (6>7<>6=>, E 6OG<E-

?5=<5< ?D><56GF>G=OE 65?<G<=, F> 5EFL «?> G4EFO<»), ?>?GG5= 65D=O= >F65F (?D< >>DG7?5=<< 

?>7D5L=>EFL =5 4>?6=4 ?D56OL4FL 10%) E G>474=<5< 54<=<F <7<5D5=<O. 

1 54?? - ?D<6545=> =5?>?=>5 D5L5=<5 <?< D5L5=<5, E>45D64M55 >L<5><: 

- �4?<E4=O =5 6E5 =5>5E>4<<O5 4?O D5L5=<O D<7<G5E><5 74>>=><5D=>EF<;  

��� 

- � 74?<EOE =5>5E>4<<OE 4?O D5L5=<O D<7<G5E><E 74>>=><5D=>EFOE <<5NFEO >L<5><; 

��� 

- �>?GM5=O >L<5>< 6 <4F5<4F<G5E><E ?D5>5D47>64=<OE <?< 6OG<E?5=<OE. 

0 54??>6 - D5L5=<5 7444G< ?>?=>EFLN =565D=>5 ��� >FEGFEF6G5F.  

�444=<5 720 6F>D>= G4EF<: 
2 54??4 - ?D<6545=> ?>?=>5 ?D46<?L=>5 D5L5=<5, 6>?NG4NM55 E?54GNM<5 M?5<5=FO: 

�5D=> G>474=O D<7<G5E><5 O6?5=<O ��� 74?<E4=O D<7<G5E><5 74>>=><5D=>EF<, ?D<<5=5-

=<5 >>F>DOE =5>5E>4<<> < 4>EF4F>G=> 4?O D5L5=<O 44==>= 7444G<; 

- �D>6545=O >>DD5>F=O5 D4EEG645=<O, ED>D<G?<D>64= 65D=O= >F65F. 

1 54?? - ?D<6545=> =5?>?=>5 D5L5=<5 <?< D5L5=<5, E>45D64M55 >L<5><: 

- �4?<E4=O =5 6E5 =5>5E>4<<O5 4?O D5L5=<O D<7<G5E><5 O6?5=<O < 74>>=><5D=>EF<; 
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1. �5E4=<G5E>>5 46<65=<5 < 57> 6<4O. �4F5D<4?L=4O F>G>4.  

2. %>4?OD=O5 < 65>F>D=O5 D<7<G5E><5 65?<G<=O.  

3. �F=>E<F5?L=>EFL <5E4=<G5E>>7> 46<65=<O. %<EF5<4 >FEG5F4. �D<=F<? >F=>E<F5?L=>EF< �4-

?<?5O. &D45>F>D<O. �GFL. �5D5<5M5=<5. 

4. $46=><5D=>5 ?DO<>?<=5==>5 46<65=<5. %>>D>EFL. 'D46=5=<5 46<65=<O.  

5. �7=>65==4O < ED54=OO E>>D>EF<. 'E>>D5=<5. �DO<>?<=5==>5 46<65=<5 E ?>EF>O==O< GE>>-

D5=<5<. �6<65=<5 E ?>EF>O==O< GE>>D5=<5< E6>5>4=>7> ?445=<O.  

6. $46=><5D=>5 46<65=<5 F>G>< ?> >>DG6=>EF<, G7?>64O E>>D>EFL. &5=FD>EFD5<<F5?L=>5 GE>>-

D5=<5.  

7. �4>>=O <5E4=<>< �LNF>=4.  

8. �4>>= 6E5<<D=>7> FO7>F5=<O. �5D64O >>E<<G5E>4O E>>D>EFL. 

9. �5E. �565E><>EFL.  

10. %<?O G?DG7>EF<. %<?O FD5=<O. 

11. �<?G?LE F5?4. �<?G?LE E<?O. �4>>= E>ED4=5=<O <<?G?LE4.  

12. �5E4=<G5E>4O D45>F4 < <>M=>EFL. �<=5F<G5E>4O M=5D7<O. �>F5=F<4?L=4O M=5D7<O. �4>>= 

E>ED4=5=<O <5E4=<G5E>>= M=5D7<<.  
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15. �454?L=O= 747. �46?5=<5 7474. �E=>6=>5 GD46=5=<5 <>?5>G?OD=>-><=5F<G5E>>= F5>D<< 74-
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>F 446?5=<O.  

21. �>65DE=>EF=>5 =4FO65=<5. %<4G<64=<5. �4?<??OD=O5 O6?5=<O.  

22. %4D4>F5D<EF<>4 F65D4>7> E>EF>O=<O 65M5EF64. �D<EF4??<G5E><5 < 4<>DD=O5 F5?4. 



23. -?5>FD<G5E><5 74DO4O. -?5<5=F4D=O= M?5>FD<G5E><= 74DO4. �4>>= E>ED4=5=<O 74DO44. �4-

>>= �G?>=4. -?5>FD<G5E>>5 ?>?5. �4?DO65==>EFL M?5>FD<G5E>>7> ?>?O.  

24. �>F5=F<4?. $47=>EFL ?>F5=F<4?>6.  

25. -?5>FD>5<>>EFL. �>=45=E4F>DO. -=5D7<O 74DO65==>7> >>=45=E4F>D4. �D<<5=5=<5 >>=45=-

E4F>D>6. 

26. 'E?>6<O, =5>5E>4<<O5 4?O 6>7=<>=>65=<O < ?>445D64=<O M?5>FD<G5E>>7> F>>4. %<?4 F>>4. 

-?5>FD<G5E>>5 E>?D>F<6?5=<5. �4>>= �<4 4?O GG4EF>4 F5?<.  

27. �4D4??5?L=>5 < ?>E?54>64F5?L=>5 E>54<=5=<5 ?D>6>4=<>>6. $45>F4 < <>M=>EFL ?>EF>O=-

=>7> F>>4. &5??>6>5 45=EF6<5 F>>4 �4>>= �6>G?O4�5=F4.  

28. -?5>FD>46<6GM4O E<?4 <EF>G=<>4 F>>4. �4>>= �<4 4?O ?>?=>= F5?<. 

29. -?5>FD<G5E><= F>> 6 <5F4??4E, 6 M?5>FD>?<F4E, 7474E, 6 64>GG<5. -?5>FD>?<7. �4>>= M?5>-

FD>?<74 $4D445O.  

30. �74<<>45=EF6<5 F>>>6. %<?4 �<?5D4. �D<<5=5=<5 E<?O �<?5D4.  

31. /6?5=<5 M?5>FD><47=<F=>= <=4G>F<<. �4>>= M?5>FD><47=<F=>= <=4G>F<<. �D46<?> �5=F4. 

�<ED56>5 M?5>FD<G5E>>5 ?>?5. -�% <=4G>F<< 6 46<6GM<EEO ?D>6>4=<>4E. /6?5=<5 E4<><=-

4G>F<<. �=4G>F<6=>EFL.  

32. �4D<>=<G5E><5 >>?554=<O. %6>5>4=O5 <5E4=<G5E><5 >>?554=<O. �D56D4M5=<5 M=5D7<< ?D< 

>>?554F5?L=>< 46<65=<<. �4F5<4F<G5E><= <4OF=<>. �DG6<==O= <4OF=<>. �O=G645==O5 <5-

E4=<G5E><5 >>?554=<O. $57>=4=E.  

33. �>?5D5G=O5 < ?D>4>?L=O5 6>?=O. %4D4>F5D<EF<>< 6>?=O. �6G>>6O5 6>?=O. '?LFD476G> < 

57> ?D<<5=5=<5. 

34�5=5D4F>D ?5D5<5==>7> F>>4. &D4=ED>D<4F>DO. 

35. �>?GG5=<5, ?5D544G4 < D4E?D545?5=<5 M?5>FD>M=5D7<<. 

36. �D<=F<? D44<>E6O7<. �D<<5=5=<5 M?5>FD><47=<F=OE 6>?=.  

37. &>G5G=O= <EF>G=<> E65F4. %>>D>EFL D4E?D>EFD4=5=<O E65F4. �4>>=O >FD465=<O < ?D5?><-

?5=<O E65F4.  

38. �<=7O. �>EFD>5=<5 <7>5D465=<O 6 ?<=74E. $>D<G?4 F>=>>= ?<=7O. '65?<G5=<5 ?<=7O. 39. 

�=F5DD5D5=F<O E65F4. �>75D5=F=>EFL E65F>6OE ?GG5=. �=F5DD5D5=F<O 6 F>=><E ??5=>4E. 

40. �<DD4>F<O =4 M5?< 6 ?4D4??5?L=OE ?GG4E. �<DD4>F<>==4O D5L5F>4. �>?OD<74F<O ?>?5-

D5G=OE 6>?=. �>?OD<74F<O E65F4. �>?OD><4O. �<E?5DE<O E65F4.  

41. �<4O <7?GG5=<=. '?LFD4D<>?5F>6>5 <7?GG5=<5. �=DD4>D4E=>5 <7?GG5=<5. $5=F75=>6E><5 

?GG<. �E ?D<D>44 < E6>=EF64. ,>4?4 M?5>FD><47=<F=OE <7?GG5=<=.  

42. �64=F>64O 7<?>F574 �?4=>4. &5??>6>5 <7?GG5=<5. �>D?GE>G?OD=>-6>?=>6>= 4G4?<7<. $>-

F>=O. �46?5=<5 E65F4.  

43. %<<<G5E>>5 45=EF6<5 E65F4. �?OFO �.�. �5554564 < �.�. �46<?>64. $>F>MDD5>F. �D<<5-

=5=<5 D>F>MDD5>F4  

44. �>45?< EFD>5=<O 4F><=>7> O4D4. /45D=4O <>45?L 4F><4.  

45. $44<>4>F<6=>EFL. �4>>= D44<>4>F<6=>7> D4E?444. $44<>4>F<6=O5 ?D56D4M5=<O. %?>E>5O 

=45?N45=<O < D57<EFD4F<< 74DO65==OE G4EF<F.  

46.�>?GG5=<5 D44<>4>F<6=OE <7>F>?>6 < <E ?D<<5=5=<5. �<>?>7<G5E>>5 45=EF6<5 D44<>4>-

F<6=OE <7?GG5=<=. -?5<5=F4D=O5 G4EF<FO.  
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2.4 �D<<5D M>74<5=4F<>==>7> 64D<4=F4 
'4EFL 1 

(=4?<L<F5 >D4F>>5 D5L5=<5 7444G< < 6O55D<F5 5G>6G ?D46<?L=>7> >F65F4) 

1. �4 7D4D<>5 ?D<6545=4 746<E<<>EFL E>>D>EF< F5?4 >F 6D5<5=< ?D< ?DO<>?<=5==>< 46<65-

=<<. �?D545?<F5 <>4G?L GE>>D5=<O F5?4. 

 
2. �4>>5 <7 ?5D5G<E?5==OE E6>=EF6 E4D4>F5D=> F>?L>> 4?O >D<EF4??<G5E><E F5?? 

4) �7>FD>?=>EFL. 

5) �FEGFEF6<5 >?D545?5==>= F5<?5D4FGDO ??46?5=<O. 

6) %GM5EF6>64=<5 >?D545?5==>= F5<?5D4FGDO ??46?5=<O. 

7) &5>GG5EFL. 

3. �O55D<F5 6E5 65D=O5 GF65D645=<O > D<7<G5E><E O6?5=<OE, 65?<G<=4E < 74>>=><5D=>EFOE. 

�4?<L<F5 F<DDO, ?>4 >>F>DO<< >=< G>474=O. 

5) � 75D<5F<G5E>< 74>DOF>< E>EG45 =4E>4OFEO 6>44 < 6>4O=>= ?4D. �D< =47D564=<< E>EG44 

>>=F5=FD4F<O <>?5>G? 6>4O=>7> ?4D4 G65?<G<FEO. 

6) �E<ED><5FD - ?D<5>D 4?O <7<5D5=<O 45E>?NF=>= 6?46=>EF<. 

7) &>G>4 D>EO - F5<?5D4FGD4, ?D< >>F>D>= 6>4O=>= ?4D EF4=>6<FEO =4EOM5==O<. 

8) �?4EF<G5E><<< =47O64NFEO 45D>D<4F<<, >>F>DO5 ?>?=>EFLN <EG574NF ?>E?5 ?D5>D4-

M5=<O 45=EF6<O 6=5L=<E E<?. 

4. �4?LG<> <4EE>= 30 >7, 557GM<= E> E>>D>EFLN 3 </E, 6E>4><645F =4 F5?56>G <4EE>= 15 >7. 

'5<G D46=4 E>>D>EFL F5?56>< E <4?LG<>><? 

5) 1 </E.  2) 2 /E.  3) 6 </E. 4) 15 </E. 

5. % G65?<G5=<5< >F=>E<F5?L=>= 6?46=>EF< D47=>EFL ?>>474=<= EGE>7> < 6?46=>7> F5D<><5F-

D>6 ?E<ED><5FD4... 

5) G65?<G<FEO 6 4 D474. 

6) G<5=LL<FEO 6 4 D474. 

7) '65?<G<FEO 6 2 D474. 

8) =5 <7<5=<FEO. 

6. �4> <7<5=<FEO E<?4 674<<>45=EF6<O 46GE F>G5G=OE M?5>FD<G5E><E 74DO4>6 ?D< G<5=LL5=<< 

D4EEF>O=<O <564G =<<< 646>5? 

5) �5 <7<5=<FEO. 

6) '65?<G<FEO 6 4 D474. 

7) '<5=LL<FEO 6 4 D474. 

8) '<5=LL<FEO 6 2 D474. 

7.  �4> <7<5=<FEO =4?DO65==>EFL M?5>FD<G5E>>7> ?>?O 6 =5>>F>D>= F>G>5 >F F>G5G=>7> 74-

DO44 ?D< G65?<G5=<< 74DO44 6 4 D474? 

5) '65?<G<FEO 6 16 D47. 

6) '65?<G<FEO 6 2 D474. 

7) '65?<G<FEO 6 4 D474. 
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8) �5 <7<5=<FEO. 

8. � O4D5 4F><4 E6<=F4 207 G4EF<F. �>>DG7 O4D4 >5D4M45FEO 82 M?5>FD>=4. %>>?L>> =5=FD>=>6  

< ?D>F>=>6 6 O4D5 MF>7> 4F><4? 

1) 82 ?D>F>=4, 125 =5=FD>=>6. 

2) 125 ?D>F>=>6, 82 =5=FD>=4. 

3) 82 ?D>F>=4, 207 =5=FD>=>6. 

4) 207 ?D>F>=>6, 82 =5=FD>=4. 

9. �4=F< 74DO4, E>744NM<= M?5>FD<G5E>>5 ?>?5, 5E?< =4 D4EEF>O=<< 3 E< >F 74DO44 =4?DO65=-

=>EFL ?>?O 0,15 ��/<. 

5) 1,5ç10
-7

 �?  

6) 3ç10
-9

 �? 

7)  1,5 ç10 - 8  �?   

8) 3 ç10 - 4  �?  

10. �?D545?<F5 E>?D>F<6?5=<5 M?5>FD<G5E>>= ?4<?O, E<?4 F>>4 6 >>F>D>= 0,5 �, ?D< =4?DO65-

=<< 120 �. 

5) 0,00417 �<  

6) 60 �<  

7) 140 �<  

8) 240 �< 

11. �4>>= <7 7D4D<>>6 E>>F65FEF6G5F 746<E<<>EF< G45?L=>7> E>?D>F<6?5=<O ?>?G?D>6>4=<>>6 

>F F5<?5D4FGDO? 

 
12. �4>>5 <7 ?D<6545==OE =<65 6OD465=<= E4D4>F5D<7G5F E<?G F>>4 6 ?>?=>= F5?<? 

1) U / R.  2) Sl /Ã . 3 ) 1 )/( rR + . 4) q /At. 

13. �47=<F 6=>E<FEO 6 4?N<<=<56>5 >>?LF>. �4?D46?5=<5 F>>4 6 >>?LF5 ?D>F<6 G4E>6>= 

EFD5?>< E> EF>D>=O <47=<F4. �4><< ?>?NE>< <47=<F >5D4M5= > >>?LFG? 

1) ?>?>6<F5?L=O<;  

2) >FD<F4F5?L=O<; 

3) E565D=O<; 

4) N6=O<. 

14. �4> <7<5=<FEO ?5D<>4 >>?554=<= <4F5<4F<G5E>>7> <4OF=<>4, 5E?< 4?<=G =<F< G<5=L-

L<FL 6 4 D474? 

5) '<5=LL<FEO 6 4 D474. 

6) '<5=LL<FEO 6 2 D474. 

7) '65?<G<FEO 6 4 D474. 

8) '65?<G<FEO 6 2 D474. 

15. � ?5D6<G=>= >5<>F>5 FD4=ED>D<4F>D4 100 6<F>>6, 6> 6F>D<G=>= >5<>F>5 - 20. �O55D<F5 

6E5 ?D46<?L=O5 GF65D645=<O. 

5) &D4=ED>D<4F>D O6?O5FEO ?>=<64NM<<. 

6) &D4=ED>D<4F>D O6?O5FEO ?>6OL4NM<<. 

7) �>MDD<F<5=F FD4=ED>D<4F<< D465= 0,2. 
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8) �>MDD<F<5=F FD4=ED>D<4F<< D465= 5. 

16. '7>? ?445=<O ?GG4 D465= 50
0
. '7>? >FD465=<O ?GG4 D465=.  

1) 90
0
.  2) 40

0
.   3) 50

0
.   4) 100

0
. 

17. -=5D7<O D>F>=>6 ?D< G<5=LL5=<< 4?<=O E65F>6>= 6>?=O 6 2 D474: 

5) G<5=LL<FEO 6 2 D474.  

6) G<5=LL<FEO 6 4 D474. 

7) G65?<G<FEO 6 2 D474.  

8) G65?<G<FEO 6 4 D474. 

18. �5D<>4 ?>?GD4E?444 =5>>F>D>7> D44<>4>F<6=>7> <7>F>?4 D465= 1 <5EOFG. �4 >4>>5 6D5<O 

G<E?> O45D MF>7> <7>F>?4 G<5=LL<FEO 6 32 D474? 

1) 3 <5EOF4  

2) 4 <5EOF4  

3) 5 <5EOF56  

4) 6 <5EOF56 

'4EFL 2 (=4?<L<F5 ?>?=>5 D5L5=<5 7444G<): 
�444G< E ?D>D5EE<>=4?L=>= =4?D46?5==>EFLN 

19. �46>4E>>= F5E >E65M45FEO 10 ?4D4??5?L=> E>54<=5==O<< <564G E>5>= ?4<?>G>4<<. �?-

D545?<FL E<?G F>>4 6 ?>46>4OM<E ?D>6>44E, 5E?< =4?DO65=<5 6 E5F< 220�, 4 E>?D>F<6?5=<5 >4-

64>= ?4<?>G>< 650 �<. %>?D>F<6?5=<5< ?>46>4OM<E ?D>6>4>6 ?D5=55D5GL. (�F65F >>DG7?<FL 

4> 45EOFOE) 

20. �E?< 6 FD4=ED>D<4F>D5 =4>>D>F>> 74<>=GFL 464 E>E54=<E 6<F>4, F> ?D<5>D 6OE>4<F <7 

EFD>O. �>G5<G F4> ?D><EE>4<F? 
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